
 Statistiques pour le Problème  d'Analyse 1

moyenne: 9.8926
écart-type:  3.8021

Les effectifs sont comptés par tranches de 2 notes: x  et  x+0.5

 note           0    1    2    3    4    5    6    7    8    9    10    11    12    13    14    15    
 note+0.5       0.5  1.5  2.5  3.5  4.5  5.5  6.5  7.5  8.5  9.5  10.5  11.5  12.5  13.5  14.5  15.5  

 effectif       0    0    0    1    6    1    6    3    7    8    7     1      5    4     1     2     
 

note               16    17    18    19    20
note+0.5           16.5  17.5  18.5  19.5

effectif           1     1     1     0     1
 


